
Addition of HTU with bridging        Primary 4 

 H T U 

 7 6 8 

+ 11 51 7 

 9 2 5 

 

1. Say the sum and estimate the answer by rounding the numbers. 

2. Start in the units’ column. 8 add 7 equals 15. 15 units is 1 ten and 5 units. Record as  a 

little 1 in the tens column and 5 units.  

3. Next go to the tens column. 6 tens add 5 tens is 11 tens add 1 ten is 12 tens. 12 tens is 

120. Record as 1 in the hundreds column and 2 in the tens column. 

4. I now go to the hundreds column. 7 hundred and 1 hundred equals 8 hundreds. Record. 

5. The answer is nine hundred and twenty five.  

6. Draw a line under your answer and compare it with your estimate. 



 


